HILTI 300

CONTAINER # 427718 [8]

X-IE-H-60

2162047

02 |HILTI10 MQB-G41 369674
03 [HILTI2 MIC-90-L SET  [304805
04 ;’\SEEI)JT (core drill NILL NILL

05 [HILTI4 MIC-90-UH 2179533
06 |HILTI6 MQP-124 369653
07 |HILTI2 MIC-190-AA SE 304825
08 [HILTI 40 MC-A-90 20633771
09 [HILTI10 MQP-45 369649
10 |HILTI 30 MQB-G41 369674
11 |HILTI30 MQP-45-F 304164
12 |HILTI 30 MvVQ-12 369643
13 :\I:':K*ION PLUG KFH 2602848 9800030603
14 [DAN 90235 F-58375
15 [FISCHER BRACKET [HDG TYPE 1B  [77522

HILTI

MATERIALS

40 BOXES
= NIL 5 BOXES
EA-2PCS |30 BOXES
EA-1PC 40 BOXES
EA-4PCS |16 BOXES
EA-5PCS |7 BOXES
B EA-2PCS |3 BOXES
EA-40 PCS |4 BOXES
EA-10PCS |4 BOXES
EA-10 PCS |11 BOXES
EA-10 PCS |2 BOXES
EA-10 PCS |1 BOX
EA-250 PCS 8 BOXES
EA-156 PCS |2 BOXES
NILL 30 PCS




16 [HILTI10 MQW-8190 369659
17 [FISCHER BRACKET |[HDG-TYPE 2C |77522
18 [FISCHER BRACKET [HDG=TYPE 24 (77522
19  [FISCHER BRACKET [HDG TYPE FA 5 77522
20 [FISCHER BRACKET |HDG TYPE YA (77522
21 |FISCHER BRACKET |HDG TYPE 3 77522
22 [HILTI NILL NILL
23 |THREADED ROD |NILL NILL
24 |THREADED ROD |NILL NILL
25 [FISCHER UW-5 49479
26 |HILTI 10 MQV-12 369643
27 |FISCHER 14x40 M12 47308
28 ESSAR FIXING M12 x90 NILL
DEVICE

29 |FISCHER FAZII 10/20 94982
30 |FISCHER G1 FU 4Y 77522
31 |FISCHER FDCC 546148
32 [HILTI 50X M10 X 40 216438
33 [HILTI 50X MQN 369623

NILL 30 PCS
NILL 20 PCS
NILL 20 PCS
NILL 45 PCS
NILL 20 PCS
* NILL 20 PCS
m 48 PCS
NILL 22 PCS
| N ILL 80 PCS
EA-I0PCS |40 BOXES
EA-I0PCS |10 BOXES
“EA-50 PCS |30 BOXES
EA-15PCS |5 BOXES
EA-25PCS  |150 BOXES
EA-50 PCS |5 BOXES
ED-100 PCS |50 BOXES
4 BOXES
EA-50 PCS |3 BOXES




34 [HILTI 25X M12X115/20 (2107849
35 |HILTI 50X MC-WN-M10 (2063743
36 [HILTI 20X MC-AH-90 2063734
37 [FISCHER FAZ 11 16/25 95836
38 [FISCHER FAZ 11 24/30 46635
39 [HILTI2 MIC-C-90-D 304827
40 [HILTI NILL NILL
41 HILTI ANCHOR NILL NILL
BOLT
42 |FISCHER FFF AT 604800
43 [HILTI 25X M12 X 115 2165019
44 |HILTI 160 MC-AH-90 2063734
45 |HILTI 4000 XC-20B3 MX 2123993
46 |END CAPBLACK |FEC-41 545929
47 [HILTI MQZL-13 2199456
48 |HILTI50 MQM-M12 369627
49  [HILTI BOLT MIA-EH-90 304887
50 |THREADING ROD (600 MM NILL

== FA-25 PCS |3 BOXES
EA-50 PCS |8 BOXES
MEA-20 PCS |5 BOXES
1&1 EA-10 PCS |25 BOXES
NILL 30 BOXES
i{EA-2 PCS 12 PCS
EA-20PCS |1 BOX
§|EA-100 PCS |1 BOX
‘ i : EA-100 1 BOX
EA-25 2 BOXES
EA-160 PCS |1 BOX
3 EA-4000 PCS |1 BOX
EA-200 PCS |4 BOXES
EA-240 PCS |1 BOX
EA-300 PCS |1 BOX
EA-50 PCS |1 BOX
= INILL 50 PCS




BENDING ROD 400 M NILL f% = * e | NILL 20 PCS
T- RODE 300 MM NILL ] i- = T:;} .' ] NILL 130 PCS
HILTI 12 MC-CB 2061832 5 : EA-12 PCS 10 BOXES
A\t
HILTI 12 MQP-2172 369651 = éEA-lZ PCS 6 BOXES
55 HILTI 10 MQV-2/2 D-14 369639 s EA-10 PCS 11 BOXES
56 |ANCHOR BOLT ig/HSI;D H 423889 EA-50 PCS 2 BOXES
57 END CAP BLACK |FFC 62B 505551 EA-100 PCS |6 BOXES
58 BEND PLATE 90 DEGREE NILL EA-150 1 BOX
59 GUN KILL NILL NILL EA-1000 PCS |1 BOX
60 HILTI COIN NILL 8407950 EA-1000 PCS |4 BOXES
61 FISCHER WK-100/100 (63559 | EA-4 5 BOXES
62 |THREADED ROD |M 16X 200 387066 EA-5 PCS 6 BOXES
63 FISCHER FUF 4Y 504308 NILL 1 BOX
64 HILTI MIA-EH-D 304891 g EA-10 PCS 7 BOXES
65 HILTI NILL NILL NILL 1 BOX




NILL

1 BOX

66  [HILTI NILL NILL
67 [ANCHOR BOLT M20/200 NILL
68 |HILTI NILL NILL
69 [BRACKET HDG FFF 10T  |NILL
70  [FISCHER SFL 124 504358
71 |ANCHOR SCREW [1" NILL

EA-10 3 BOXES
NILL 1 BOX
EA-41 2 BOXES
EA-5 1 BOX
EA-500 PCS |2 BOXES




